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LLAUUBLL DUUGN 1,164,341.1| 836,347.0 836,347.0| 65,000.0 65,000.0 50,000.0 50,000.0
wjn pynd
LUuBUShY DUuUGN 1,164,341.1| 836,347.0 836,347.0| 65,000.0 65,000.0 50,000.0 50,000.0
wjn pyntd
untRURAhULEN 82,765.8 0.0 0.0| 65,000.0 65,000.0 0.0 0.0
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 82,765.8 0.0 0.0 65,000.0 65,000.0 0.0 0.0
wjn pynLd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 82,765.8 0.0 0.0| 65,000.0 65,000.0 0.0 0.0
Ywagiwytnwnigntbbtpha
anuuucunNLueP 150,415.3 0.0 0.0 0.0 0.0 50,000.0 50,000.0
wjn pyntd
Apwiwp0nphbbp showgquiht Yugiwyspwnepntbueph 3,149.7 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- COpwghy npwdwbnphbtp dhowaqguihl 3,149.7 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
LOpwghy npwiw0nphOtp wewnwywb hwnywdéh wy 147,265.6 0.0 0.0 0.0 0.0 50,000.0 50,000.0
Jwywnpnwybephb
wyn pyntd
- LOpwghy npwiwtnphGbp whwnwywb ng weluinpuwih 130,000.0 0.0 0.0 0.0 0.0 50,000.0 50,000.0
Ywagiwytnwnipntbbtphb
- LOpwghy npwdwbnphlbtp wwnwywb webnpuwih 17,265.6 0.0 0.0 0.0 0.0 0.0 0.0
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u3L ouwugP 931,160.0( 836,347.0 836,347.0 0.0 0.0 0.0 0.0
wjn pynd
Ldhpwuwunynipgntbbbn ng urwywnswywb (hwuwpuwywywlb) 931,160.0| 836,347.0 836,347.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb
wjn pyntd
- LyhpwwunynipyntbOtn wy whnyp shGunwwbnnn 931,160.0| 836,347.0 836,347.0 0.0 0.0 0.0 0.0
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i) i)

8 9 10 11 12 13
LLAUUBLL DUUGN 28,000.0 28,000.0 4,350.0 4,350.0 16,000.0 16,000.0
wjn pynd
LUuBUShY DUuUGN 28,000.0 28,000.0 4,350.0 4,350.0 16,000.0 16,000.0
wjn pyntd
untRURAhULEN 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtpha
anuuucunNLueP 28,000.0 28,000.0 0.0 0.0 16,000.0 16,000.0
wjn pyntd
Apwiwp0nphbbp showgquiht Yugiwyspwnepntbueph 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- LOpwghYy npwdw0nphbbn showqguihl 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
LOpwghy npwiw0nphOtp wewnwywb hwnywdéh wy 28,000.0 28,000.0 0.0 0.0 16,000.0 16,000.0
Jwywnpnwybephb
wyn pynty
- COpwghy npwdw0nphbbp wewnwywb ng webinpuwih 28,000.0 28,000.0 0.0 0.0 16,000.0 16,000.0
Ywagiwytnwnipntbbtphb
- LOpwghy npwdwbnphlbtp wwnwywb webnpuwih 0.0 0.0 0.0 0.0 0.0 0.0
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10 11 12 13
u3L ouwugP 0.0 0.0 4,350.0 4,350.0 0.0 0.0
wjn pynd
Ldhpwuwunynipgntbbbn ng urwywnswywb (hwuwpuwywywlb) 0.0 0.0 4,350.0 4,350.0 0.0 0.0
Ywagiwytnwnigntbbtphb
wjn pyntd
- LyhpwwunynipyntbOtn wy whnyp shGunwwbnnn 0.0 0.0 4,350.0 4,350.0 0.0 0.0

Ywagiwytnwnigntbbtphb
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14 15 16 17 18 19
LLAUUBLL DUUGN 6,000.0 6,000.0 3,000.0 3,000.0 1,000.0 1,000.0
wjn pynd
LUuBUShY DUuUGN 6,000.0 6,000.0 3,000.0 3,000.0 1,000.0 1,000.0
wjn pyntd
untRURAhULEN 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynLd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtpha
anuuucunNLueP 6,000.0 6,000.0 3,000.0 3,000.0 1,000.0 1,000.0
wjn pyntd
Apwiwp0nphbbp showgquiht Yugiwyspwnepntbueph 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- LOpwghYy npwdw0nphbbn showqguihl 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
LOpwghy npwiw0nphOtp wewnwywb hwnywdéh wy 6,000.0 6,000.0 3,000.0 3,000.0 1,000.0 1,000.0
Jwywnpnwybephb
wyn pyntd
- COpwghy npwdw0nphbbp wewnwywb ng webinpuwih 6,000.0 6,000.0 3,000.0 3,000.0 1,000.0 1,000.0
Ywagiwytnwnipntbbtphb
- LOpwghy npwdwbnphlbtp wwnwywb webnpuwih 0.0 0.0 0.0 0.0 0.0 0.0
YuquwytpwnipntGbepha
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20 21 22 23 24 25
LLAUUBLL DUUGN 5,000.0 5,000.0 16,000.0 16,000.0 2,000.0 2,000.0
wjn pynd
LUuBUShY DUuUGN 5,000.0 5,000.0 16,000.0 16,000.0 2,000.0 2,000.0
wjn pyntd
untRURAhULEN 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynLd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtpha
anuuucunNLueP 0.0 0.0 16,000.0 16,000.0 2,000.0 2,000.0
wjn pyntd
Apwiwp0nphbbp showgquiht Yugiwyspwnepntbueph 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- LOpwghy npwdw0nphbbn showqgquihl 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
LOpwghy npwiw0nphOtp wewnwywb hwnywdéh wy 0.0 0.0 16,000.0 16,000.0 2,000.0 2,000.0
Jwywnpnwybephb
wyn pyntd
- COpwghy npwdw0nphbbp wewnwywb ng webinpuwih 0.0 0.0 16,000.0 16,000.0 2,000.0 2,000.0
Ywagiwytnwnipntbbtphb
- LOpwghy npwdw0nphbbp wEnwywb webnpwih 0.0 0.0 0.0 0.0 0.0 0.0
YuquwytpwnipntGbepha
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u3L ouwugP 5,000.0 5,000.0 0.0 0.0 0.0 0.0
wjn pynd
Ldhpwuwunynipgntbbbn ng urwywnswywb (hwuwpuwywywlb) 5,000.0 5,000.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb
wjn pyntd
- LyhpwwunynipyntbOtn wy whnyp shGunwwbnnn 5,000.0 5,000.0 0.0 0.0 0.0 0.0

Ywagiwytnwnigntbbtphb
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LLAUUBLL DUUGN 8,000.0 8,000.0 9,000.0 9,000.0 5,500.0 5,500.0 17,765.8 17,765.8
wjn pynd
LUuBUShY DUuUGN 8,000.0 8,000.0 9,000.0 9,000.0 5,500.0 5,500.0( 17,765.8 17,765.8
wjn pyntd
untRURAhULEN 0.0 0.0 0.0 0.0 0.0 0.0| 17,765.8 17,765.8
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 0.0 0.0 0.0 0.0 0.0 0.0] 17,765.8 17,765.8
wjn pynLd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 0.0 0.0 0.0 0.0 0.0 0.0 17,765.8 17,765.8
Ywagiwytnwnigntbbtpha
anuuucunNLueP 8,000.0 8,000.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Apwiwp0nphbbp showgquiht Yugiwyspwnepntbueph 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- LOpwghy npwdw0nphbbn showqgquihl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
LOpwghy npwiw0nphOtp wewnwywb hwnywdéh wy 8,000.0 8,000.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywnpnwybephb
wyn pyntd
- COpwghy npwdw0nphbbp wewnwywb ng webinpuwih 8,000.0 8,000.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnipntbbtphb
- LOpwghy npwdw0nphbbp wEnwywb webnpwih 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YuquwytpwnipntGbepha
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u3L ouwugP 0.0 0.0 9,000.0 9,000.0 5,500.0 5,500.0 0.0 0.0
wjn pynd
Ldhpwuwunynipgntbbbn ng urwywnswywb (hwuwpuwywywlb) 0.0 0.0 9,000.0 9,000.0 5,500.0 5,500.0 0.0 0.0
Ywagiwytnwnigntbbtphb
wjn pyntd
- LyhpwwunynipyntbOtn wy whnyp shGunwwbnnn 0.0 0.0 9,000.0 9,000.0 5,500.0 5,500.0 0.0 0.0

Ywagiwytnwnigntbbtphb
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LLAUUBLL DUUGN 17,265.6 17,265.6 70,963.0 70,963.0| 3,149.7 3,149.7
wyn pyntd
LUuBUShY DUuUGN 17,265.6 17,265.6 70,963.0 70,963.0| 3,149.7 3,149.7
wjn pyntd
untRURAhULEN 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynLd
- Untpuhnhwltn ng $howbuwywb wbnwywh 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtpha
anuuucunNLueP 17,265.6 17,265.6 0.0 0.0| 3,149.7 3,149.7
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- LOpwghy npwdw0nphbbn showqgquihl 0.0 0.0 0.0 0.0 3,149.7 3,149.7
YuaquwytpwnipntGbepha
LOpwghy npwiw0nphOtp wewnwywb hwnywdéh wy 17,265.6 17,265.6 0.0 0.0 0.0 0.0
Jwywnpnwybephb
wyn pyntd
- LOpwghy npwiwtnphGbp whwnwywb ng weluinpuwih 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnipntbbtphb
- LOpwghy npwdwbnphlbtp wwnwywb webnpuwih 17,265.6 17,265.6 0.0 0.0 0.0 0.0
YuquwytpwnipntGbepha




251>

Unyntuwly 08-01-01

34 35 36 37 38 39

u3L ouwugP 0.0 0.0 70,963.0 70,963.0 0.0 0.0
wjn pynd

Ldhpwuwunynipgntbbbn ng urwywnswywb (hwuwpuwywywlb) 0.0 0.0 70,963.0 70,963.0 0.0 0.0
Ywagiwytnwnigntbbtphb

wjn pyntd

- LyhpwwunynipyntbOtn wy whnyp shGunwwbnnn 0.0 0.0 70,963.0 70,963.0 0.0 0.0
Ywagiwytnwnigntbbtphb
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 01 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybiywé N 1
Unjntuwy N 08-02-01

Unyntuwy 08-02-01

wyn pYnLd puwn pwantinh

Uwynipwihb opjeyunbeph

MEnwywl wowygnipntt gpuwnwpwbasphl

MEnwywb wewygnepntl
{wjwuwinwbh wagquhb

hhdGwlnpngntd GG
LOnwukOp
< h wodwonud m:;uh wjn pYntd puwn wjn pYntd puwn wyn pYntd puwn
nnywoh wiywanuap ?Rtjﬁr? = Ywunwnnnbtph z Jwuwnwnnnbtph z Ywuwnwnnnbtph
npwabbpny) § % = § = = JE T § ]
= = c c 3o 5 E c g £ _E c <
= g5 = £33%| 55 | 55¢% 2 -
S SE S S32E| 5E | S2E| S =8
=1 ¥ ~ 3 b= é 23 3 3 3 ‘5 = 3 b= 3 3
3 3 c 3 el = S5 E SE¢c 3 S <
S 53 S s3 g_ NA .3 ZE .3 S NA .3
a g% a MR V= 23 a V5
s S S v S S
1 2 3 4 5 6 7 8 9
pLAUUGLL DUuUGN 1,482,913.7| 562,370.0 562,370.0 827,584.6| 117,814.7| 590,503.0( 119,266.9| 42,959.1 42,959.1
wyn pyntd
LULBUSHhY DUUGN 855,543.7 0.0 0.0| 812,584.6| 117,814.7| 590,503.0| 104,266.9| 42,959.1 42,959.1
wyn pyntd
untRUhLAhULEGN 855,543.7 0.0 0.0| 812,584.6| 117,814.7| 590,503.0| 104,266.9| 42,959.1 42,959.1
wyn pyntd
Untpuhnhwbn wewnwywb Yuqiwybnpwneentabepho 855,543.7 0.0 0.0| 812,584.6| 117,814.7| 590,503.0| 104,266.9| 42,959.1 42,959.1
wjn pynd
- Untpuhnhwtp ng $howbuwywb wbnwywh 855,543.7 0.0 0.0| 812,584.6| 117,814.7| 590,503.0| 104,266.9| 42,959.1 42,959.1
Ywagiwytnwnigntbbtphb
N2 hvuvuulvuL U4sShyuNrh aonNYy oukuutN 627,370.0 562,370.0 562,370.0| 15,000.0 0.0 0.0] 15,000.0 0.0 0.0
wjn pynd
<pULuuuuL UhansuenN 627,370.0 562,370.0 562,370.0| 15,000.0 0.0 0.0] 15,000.0 0.0 0.0
wjn pynLd
CELLGN G CchuNtEB3NFLLEN 562,370.0 562,370.0 562,370.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- Chlptnh L 2nGnipntGbEph Ywwhunwy YEpwbnpngnid 562,370.0( 562,370.0 562,370.0 0.0 0.0 0.0 0.0 0.0 0.0
uGecuuutNh G4 uureudnMrNidueNh Q6NRRGNNFY, 65,000.0 0.0 0.0] 15,000.0 0.0 0.0| 15,000.0 0.0 0.0
nu{nuLNiy B4 <hUuunrNanty
wjn pyntd
- Uy opblwlEn L uwppwynpniibbp 65,000.0 0.0 0.0] 15,000.0 0.0 0.0] 15,000.0 0.0 0.0
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 01 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

<nnywéh waqwbnidp

wjn pYntd puwn dpwgntiph

LGUwnpnOwgywdé Ywngny
Lwjwuinwbh wgquihb
gnwuwwiwuwnh L
gnwnwnwOOGph hwdwnp
uwnptph, uwppwynpniibbph
abrppbpiwd gony wEwnwywl
wwwnybp

wyn pYntd puwn

— Ywuwnwnnnbtph

=

3 2

§ £5

o =S

s 35

3 Ss

| ¢

ad v '3

[ )

10 11
pLAUUGLL DUuUGN 50,000.0 50,000.0
wyn pyntd
LULBUSHhY DUUGN 0.0 0.0
wyn pyntd
untRUhLAhULEGN 0.0 0.0
wyn pyntd
Untpuhnhwbn wtwnwywb YuwgdwybnpwnipntbOtnh 0.0 0.0
wyn pyntd
- Untpuhnhwbp ng $howbuwywb wunwywb 0.0 0.0
Ywagiwytnwnigntbbtphb
N2 hvuvuulvuL U4sShyuNrh aonNYy oukuutN 50,000.0 50,000.0
wyn pyntd
<hUuuuuuu uh2nsutN 50,000.0 50,000.0
wjn pynLd
CGLRGN BJ ChUNHB3NILLEN 0.0 0.0
wjn pyntd
- Chlptnh L 2nGnipntGbEph Ywwhunwy YEpwbnpngnid 0.0 0.0
uGecuuuLGtMh G4 uureudnMrNiuLeNh 26NLRRGNNLU, 50,000.0 50,000.0
nu{nuLNiy B4 <hUuunrNanty
wjn pyntd
- Uy dbpblwbtn b uwppwynpnidbtn 50,000.0 50,000.0

Unyntuwy 08-02-01
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 02 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybiywé N 1
Unjntuwy N 08-02-02

Unyntuwy 08-02-02

wyn pYnLd puwn dpwgntiph

Uwynipwihb opltyunbtnh

MGunwywl wowygnipyintt pwlqupwdlenhl

hhdOGwOnpngntd
LOnwikOp
nwuh wjn pYntd puwn wjn pYntd puwn
<Znnywéh woywonidp gniwnp z YuwinwinnnGtiph z YuwinwinnnGtinh
(hwquin & g 3 S
npwuitkpny) 3 3 = 3 5 = = %i \5 = 3 S s
s &5 5 [N R =5 &< s < 3 < 3
2 g8 2 e8| 5% 5g eS| 2 sS | 25
3 JEE 3 3E| SE 3 E 2E| 3B 22 &5
b= N 5 Y 33 3 3 3 3 N 23 35 5§35
3 3 < 3 = SE 5 & 3c 2 3 £33 3
5 % 3 5 3 3 = 3 5 3 %4 3 Do = g g
al =y a 35 N1 3 g = 2 NAE! g3
32 33 3 3 33 S V3| y3
& 2 ¥ & &
1 2 4 5 6 7 8 9 10 11
LLNUUBLL DUUGP 1,359,878.0| 98,887.0 98,887.0| 1,230,991.0| 21,574.0| 916,791.2| 84,255.0| 27,460.3| 104,841.1( 16,719.0( 10,222.8
wjn pynd
0LPBUSHhY TUUGN 1,209,142.1 0.0 0.0 1,209,142.1| 21,574.0 895,671.2| 84,255.0| 26,731.4| 104,841.1| 16,719.0| 10,222.8
wjn pyntd
unkruhahuutN 1,209,142.1 0.0 0.0 1,209,142.1| 21,574.0 895,671.2| 84,255.0| 26,731.4| 104,841.1| 16,719.0| 10,222.8
wjn pynd
Untpuhnhwbp weunwlwb YugdwysnwnipintGGepha 1,209,142.1 0.0 0.0 1,209,142.1| 21,574.0 895,671.2| 84,255.0| 26,731.4| 104,841.1| 16,719.0| 10,222.8
wjn pyntd
- Untpuhnhwtn ng howbuwlul weinwlwa 1,209,142.1 0.0 0.0 1,209,142.1| 21,5674.0| 895,671.2| 84,255.0| 26,731.4| 104,841.1| 16,719.0| 10,222.8
JuaquwytpwnipntGbephb
N2 $hvuvuuyuUL U4shyuNh aonNdy oukuueN 150,735.9( 98,887.0 98,887.0 21,848.9 0.0 21,120.0 0.0 728.9 0.0 0.0 0.0
wyn pyntd
<pUuuyuL uh2nsutN 150,735.9( 98,887.0 98,887.0 21,848.9 0.0 21,120.0 0.0 728.9 0.0 0.0 0.0
wyn pyntd
cbueLN Gd chunt@3ntuutN 98,887.0| 98,887.0 98,887.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- GtGpbnh L 2hGnLgnbbEph Yuwhuwnwy yGpwbnpngnid 98,887.0| 98,887.0 98,887.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UbetLULGNPh G4 uureudn,rNtULENh Q6NLRGNNIY, 51,848.9 0.0 0.0 21,848.9 0.0 21,120.0 0.0 728.9 0.0 0.0 0.0
nu{MULNFY BY <hULULNNNaNtU
wyn pyntd
- Uy dbpbGwbtbp L uwppwynpnidbtbp 51,848.9 0.0 0.0 21,848.9 0.0 21,120.0 0.0 728.9 0.0 0.0 0.0
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 02 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

wjn pYntd pun dpwgntinh

UGUwnpnOwgywdé Ywngny
wOqunwGbBph hwdw
MEinwywl wowygnipintl uurjanpb%h,rlwnptﬂﬂnnnmugnh
PUItGUINWAGGRNG dtrpptndwl gény wewnwywh
wwunytn
wyn pYntd pun wjn pYntd pun
Znnywéh woywanidp Jwuwwpnnlbph z Jwuwnwpnnbbph
g
3| 3|8 e3| 2 52
= £c o= cc © o
52| 22| 52| o8 g SE
o3| 53|53 55| 22
he
fen ] he fen he S
12 13 14 15 16 17
LLAUUBLL DUUGN 6,567.0( 29,041.7| 6,822.9| 6,696.0 30,000.0 30,000.0
wjn pynd
LUuBUSHhY DUUGN 6,567.0( 29,041.7| 6,822.9| 6,696.0 0.0 0.0
wjn pyntd
untRURAhULEN 6,567.0( 29,041.7| 6,822.9| 6,696.0 0.0 0.0
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 6,567.0( 29,041.7| 6,822.9| 6,696.0 0.0 0.0
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 6,567.0 29,041.7| 6,822.9| 6,696.0 0.0 0.0
JuaquwytpwnipntGbephb
N2 rvUvuuvUL U4ShyucNrh aondy ouuutnN 0.0 0.0 0.0 0.0 30,000.0 30,000.0
wyn pyntd
<pULuuuL UhansuenN 0.0 0.0 0.0 0.0 30,000.0 30,000.0
wyn pyntd
CELLGN G chuNnt@3NFLLEN 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- Gklptnh L 2hGnipnLGbEph Ywwhwnwy yEpwbnpngnid 0.0 0.0 0.0 0.0 0.0 0.0
uGecuuuLtNh G4 uureudnrnilurh Q6NeRENMNEY, 0.0 0.0 0.0 0.0 30,000.0 30,000.0
nu<MULNEU BY <hULULNNNANEU
wyn pyntd
- W ubptOwlbn L uwppwynpniabtn 0.0 0.0 0.0 0.0 30,000.0 30,000.0

Unyntuwy 08-02-02
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 03 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb pun
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybiywé N 1
Unjniuwy N 08-02-03

Unyntuwy 08-02-03

wjn pYntd pun dpwgntinh

Uwynipwihb opjeyunbeph

MEnwywb wowygnipntt dawynyph inlkph,

Uwynipwihb opjleyunnbbnh

hhdGwlnpngntd wyntipbbphl L YyhuinpnbGephGa 2hGwpwpnientb
LOnwukOp
< h wodwonud m:;uh wjn pYntd puwn wjn pYntd puwn wjn pYntd puwn
nnywsh waywonudp gntawnn — Jwuwwpnnbbph — Jwuwwpnnbbph — Jwuwwpnnbbph
(husawn £ £ £
wibkpn
n nnd) g % = g = S S oS g % =
g e 5 5 €z | g2 | g2 | €2 5 e 5
S S5 ¢E g cc 33 < 3 S 3 g Ez
5 ves 5 25 55 =5 o5 B vES
b= s 3 b= 3 3 25 c 5 c 5 =1 S 3
3 3 c 3 S & 53 > 3 33 3 3£
o Q3 o 3 o o 5 o = Q 3
S 35 S v 35 N = NS S 35
a €3 a V'3 3 3 Y 3 a £3
33 S = = = 33
o ai
1 2 3 4 5 6 7 8 9 10
puLUUGBLE cUuGN 962,537.7| 474,387.7 474,387.7| 23,650.01 20,621.8| 1,009.4] 1,009.4| 1,009.4| 429,836.0 429,836.0
wyn pyntd
puEUShY DUUGN 23,101.9 0.0 0.0 23,101.9| 20,073.7| 1,009.4| 1,009.4| 1,009.4 0.0 0.0
wyn pynty
untprURNRULEGN 23,101.9 0.0 0.0 23,101.9| 20,073.7| 1,009.4| 1,009.4| 1,009.4 0.0 0.0
wyn pyntd
Untpuhnhwtbp wtwnwywO YugdwybpwnipntbOtph 23,101.9 0.0 0.0 23,101.9| 20,073.7| 1,009.4| 1,009.4| 1,009.4 0.0 0.0
wyn pyntd
- UntpuhnhwOtp ns $hbwbuwywb wybwnmwywo 23,101.9 0.0 0.0 23,101.9| 20,073.7| 1,009.4| 1,009.4| 1,009.4 0.0 0.0
Ywagiwytnwnigntbbtphb
N2 InvuuuyuuL UushyutNh aond ocuueN 939,435.8| 474,387.7 474,387.7 548.1 548.1 0.0 0.0 0.0 429,836.0 429,836.0
wyn pyntd
<hUuuyuduL UnansueN 939,435.8| 474,387.7 474,387.7 548.1 548.1 0.0 0.0 0.0 429,836.0 429,836.0
wjn pyntd
CGLREN GU ChuNt@3NtFLLEN 938,887.7| 474,387.7 474,387.7 0.0 0.0 0.0 0.0 0.0 429,836.0 429,836.0
wyn pyntd
- Ctlptnh L 2nGnipntGGEph 2hGwnpwpnieynLl 429,836.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 429,836.0 429,836.0
- Cklptnh L 2nGnipnLGbEph Ywwhunwy YEpwbnpngnid 509,051.7| 474,387.7 474,387.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0
uGetuUuuLGNh G4 uureudn,rnitUusNh Q6NRRENANLU, 548.1 0.0 0.0 548.1 548.1 0.0 0.0 0.0 0.0 0.0
nu<MULNtU 64 <huuuunrnantyu
wyn pyntd
- W vbptwlbp L uwppwynpnidbtn 548.1 0.0 0.0 548.1 548.1 0.0 0.0 0.0 0.0 0.0
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 03 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb pun
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

wjn pYntd pun dpwgntinh

Ut6 PphunwGhwih L gniuhuwihlb hrjwGnhwh
Uhwgjwi Bwagwynpnipjwb Ynnihg <wjwuwnnwbh
LwhpwwGwunnigjuip $howbuwywb oglnipyul
Ywpgny inpwidwnpdwé yhpwptnnepjub
dhongltiph hwayhl hpwywawgynn <<
Qtnwnpentbhph L Swynt2h dwpgbpnid dwpquhb

qupqugliwl dpwghn

wyn pYntd puwn
<nnywéh waqwbnidp _ YuinwnnnGlph

&

3 o

& §2

= c 3

B a5

=} 3 L

3 =3

= 5o

S d. c

a ! 3

N, b=}

11 12
pLAUUGLL DUuUGN 34,664.0 34,664.0
wyn pyntd
LULBUSHhY DUUGN 0.0 0.0
wyn pyntd
untRUhLAhULEGN 0.0 0.0
wyn pyntd
Untpuhnhwbtp wtnwywb YuwqdwybpwnipintGGephb 0.0 0.0
wjn pynd
- Untpuhnhwbp ng $howbuwywb wunwywb 0.0 0.0
Ywagiwytnwnigntbbtphb
N2 hvuvuulvuL U4sShyuNrh aonNYy oukuutN 34,664.0 34,664.0
wjn pynd
<hUuuuuuu uh2nsutN 34,664.0 34,664.0
wjn pynLd
CGLRGN BJ ChUNHB3NILLEN 34,664.0 34,664.0
wjn pyntd
- GGlpknh L 2hGnipnLbGEph 2hGwpwpnigintb 0.0 0.0
- Chlptnh L 2hGnipintGbbph Ywwhuwnwy Epwbnpngnid 34,664.0 34,664.0
uGecuuutNh G4 uureudnMrNidueNh Q6NRRGNNFY, 0.0 0.0
nu<muULNEYU B4 <hULULNNNGNEU
wyn pyntd
- Uy dbptlwbtn L uwppwynpnudbGtn 0.0 0.0

Unyntuwy 08-02-03
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 04 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybiywé N 1
Unjntuwy N 08-02-04

Unyniuwly 08-02-04

wjn pYnLd puwn dpwantiph

MEnwywl wewygntpintl
«SbnEYwunywywh - MEnwywl wowygnipntd
Uwynipwihb oplyunbtph Ntnwlwh wowllgnpin.l Jenniswywl L «Bplwlh
«LwjwunwOh wqgquihb
hhdbwbnpngntd wpfuhy» MNUY-ha hwuwpwywjbnipwb hbwn yeonwlwpwlwywb wigh»
n Ywwtnh Y&GunnG» MNAUY-hG
MNUY-hG
QlnwukOp
nwuh wjn pYntd puwn wyn pYntd puwn wyn pYntd puwn wyn pYntd puwn
<nnywéh wajwbniip gniiwpp — Jwuwnwnnnltph — Ywuwnwnnnbbph — Ywuwnwnnnbbph — Ywuwnwnnnbtph
(hwqun =3 = =3 =3
npwibbpny) g = g R g = g 3
c i c c £oc c c 2 c c
5 S 5 EER- © g ° E
c =z o1} = = =
2 J2E g S5¢E g SE g g8
=} S S =} c= =} =] 3
3 cBu = 3 33% 3 S & 3 c 3
= 3 = z 3 = 3 = Do
= 33 = 5353 = Nl = 3
33 S S él
1 5 7 8 9
LLAUUGLL DUUGN 791,146.7| 32,469.0 32,469.0| 327,276.4 327,276.4| 15,982.5 15,982.5( 176,366.6 176,366.6
wyn pyntd
QUuBUShY DUuUGN 681,525.2 0.0 0.0| 256,258.1 256,258.1| 14,090.4 14,090.4( 176,366.6 176,366.6
wyn pyntd
untRURAhULEGN 501,525.2 0.0 0.0| 256,258.1 256,258.1| 14,090.4 14,090.4( 176,366.6 176,366.6
wyn pyntd
Unipuhnhwtn wewnwywb Yuqiwytnpwneentabsph 501,525.2 0.0 0.0| 256,258.1 256,258.1| 14,090.4 14,090.4( 176,366.6 176,366.6
wyn pyntd
- Untpuhnhwltn ng $hlwbuwywb wbnwywh 501,525.2 0.0 0.0| 256,258.1 256,258.1| 14,090.4 14,090.4( 176,366.6 176,366.6
YuaquwytpwnipntGbepha
anuuucunNLueP 180,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
LOpwghy npwdwzb0nphbbn wewnwywb hwunywdéh wy 180,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Gwywpnwyatphb
wyn pyntd
- U pbpwghy npwdwzbnphbtn 180,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N2 hvuvuulvuL U4sShyuNrh aonNYy oukuutN 109,621.5( 32,469.0 32,469.0| 71,0183 71,018.3 1,892.1 1,892.1 0.0 0.0
wjn pyntd
<pULuuuuL UhansuenN 109,621.5( 32,469.0 32,469.0] 71,0183 71,018.3 1,892.1 1,892.1 0.0 0.0
wyn pyntd
CEueGN G CchuNnt@B3NtLLEN 32,469.0| 32,469.0 32,469.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
- Gtlptnh L 2hGnigntGbEph Ywwhunwy yGpwbnpngnid 32,469.0| 32,469.0 32,469.0 0.0 0.0 0.0 0.0 0.0 0.0




29€

Unyniuwly 08-02-04

1 2 4 5 6 7 8

UbRELULENh B4 UUNRUUNNNFULENh Q6NRRENNEU, 77,152.5 0.0 0.0] 71,0183 71,0183  1,892.1 1,892.1 0.0 0.0
aULMULNEU BU pULULNNNGNEU

wjn pyntd

- Uy, 0bpkawaEn L uwppwydnpnudGen 77,1525 0.0 0.0] 71,0183 71,0183] 1,892.1 1,892.1 0.0 0.0
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 04 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

wyn pYntd puwn dpwantinh

MEnwywb wowygnipntl
«dnnnypnwywb
untndwagnnpénipjwl L
wphbuwnwgnnénLpjwl
yeaunpnG» MAUY-ha

MNEinwywl wowygnipntl
«Uwyntpwihb wpdbpbtph
thnpdwghnwywl
ytaunpna» MNUY-hG

GpLwOh hwiwpwnwpwih(
Opwlwynipwb dwluubp

wjn pYntd puwn wjn pYntd puwn wyn pYntd puwnn
<nnywéh wajwbniip — Ywuwnwnnnbbph — Ywuwnwnnnbbph — Ywuwnwnnnlbph
& & & 3
3 2 3 2 3 3
c o c c o c c =4
2 zs 2 zs 2 .2
cC C cC C
z 35 = 35 = 3%
3 S & 3 S & 3 c 3
£ v £ v g 53
ad V'3 a V'3 a -
S S 3
(o1}
10 11 12 13 14 15
LLAUUGLL DUUGN 27,326.8 27,326.8| 31,725.4 31,725.4] 180,000.0 180,000.0
wyn pynty
QUuBUShY DUuUGN 25,434.7 25,434.7| 29,375.4 29,375.4| 180,000.0 180,000.0
wyn pyntd
untRURAhULEGN 25,434.7 25,434.7| 29,375.4 29,3754 0.0 0.0
wyn pyntd
Unipuhnhwtn wewnwywb Yuqiwytnpwneentabsph 25,4347 25,434.7| 29,375.4 29,375.4 0.0 0.0
wyn pyntd
- Untpuhnhwltn ng $hlwbuwywb wbnwywh 25,4347 25,434.7| 29,375.4 29,3754 0.0 0.0
YuaquwytpwnipntGbepha
anuuucunNLueP 0.0 0.0 0.0 0.0| 180,000.0 180,000.0
wyn pyntd
LOpwghy npwdwzb0nphbbn wewnwywb hwunywdéh wy 0.0 0.0 0.0 0.0] 180,000.0 180,000.0
Gwywpnwyatphb
wyn pyntd
- W) pbpwghy npwdwbnphbtp 0.0 0.0 0.0 0.0 180,000.0 180,000.0
N2 hvuvuulvuL U4sShyuNrh aonNYy oukuutN 1,892.1 1,892.1| 2,350.0 2,350.0 0.0 0.0
wjn pyntd
<pULuuuuL UhansuenN 1,892.1 1,892.1| 2,350.0 2,350.0 0.0 0.0
wyn pyntd
CEueGN G CchuNnt@B3NtLLEN 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
- Gtlptnh L 2hGnignLbbEph Ywwhunwy Epwbnpngnid 0.0 0.0 0.0 0.0 0.0 0.0

Unyniuwly 08-02-04
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10 11 12 13 14 15
uGecuuutNh 64 uurLudnMrNiULENh Q6NLRGNNEY, 1,892.1 1,892.1| 2,350.0 2,350.0 0.0 0.0
nu{nuLNiy 64 <pyuunrNanty
wjn pyntd
- W vbptOwltn L uwppwynpnidbtn 1,892.1 1,892.1] 2,350.0 2,350.0 0.0 0.0

Unyniuwly 08-02-04
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optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 05 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybiywé N 1
Unjntuwly N 08-02-05

Unyntuwy 08-02-05

wyn pYntd puwn dpwantiph

Uwynipwihl opjsyuinGtnh
hhdGwGnpngntd

MGwnwywl wowygnipintl
«Up.Uwtanhwpuwbh woqwb
owtipwih L pwibunh
waqquwihb wywnGihwywb
pwwnpnO» MNUY-hG

MGEnwywl wowygnipntl

«Q.UntlnntywOh wodw

wagqwihb wywnbdhwywb
pwuwnnnb» MAUY-hG

MEnwywb wowygnipntl
wy)] pwwnpnbOBphl L
hwitpquihG

YwqgiwyGnpwnepntbbtpha

wjn pyntd

LOnwikOp
nwuh wyjn pYntd pun wyn pyntd pun wjn pYntd pun lun pYnLd pu
Znnywéh woywanidp gnLawnp z Jwuwnwpnnbbph z Jwuwnwpnnltph = JwuwnwpnnbGph z Yuwuwnwpnnbbn
(hwqun g a g - g - g -
npwiaGpny) 3 32 3 c 2 2 - 2 £
S £s S ss S =s S Ss
S € c C c C c C
2 vE5 2 35 2 35 = 35
3 3= 3 S s 3 S & 3 S &
5 %4 3 g 3 g 3 g 3
a 5 % a M % a M % a M %
mc: S S S
1 2 3 4 5 6 7 8 9
LLAUUBLL DUUGN 3,370,662.1( 100,000.0 100,000.0| 707,363.9 707,363.9| 243,809.5 243,809.5( 1,566,907.5| 1,283,820.8
wyn pyntd
LUuBUSHhY DUUGN 2,880,229.9 0.0 0.0| 447,363.9 447,363.9( 198,311.9 198,311.9| 1,481,972.9| 1,198,886.2
wyn pyntd
untRURAhULEN 2,806,204.0 0.0 0.0| 447,363.9 447,363.9( 198,311.9 198,311.9| 1,481,972.9| 1,198,886.2
wyn pyntd
UnipuhnhwObn wewnwywb Yugdwytnpwneegntabspho 2,806,204.0 0.0 0.0| 447,363.9 447,363.9( 198,311.9 198,311.9| 1,481,972.9| 1,198,886.2
wyn pyntd
- Untpuhnhwltn ng $howbuwywb wbnwywh 2,806,204.0 0.0 0.0| 447,363.9 447,363.9( 198,311.9 198,311.9( 1,481,972.9( 1,198,886.2
JuaquwytpwnipntGbephb
unshuLu4yuuLu LMUUSLEN B4 YEuuurNoUYwLEN 54,025.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Unghwjwywb oglntpjwb npuiwlwh wpunwhwjuinnepjwudp 54,025.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbbn (pntothg)
wyn pyntd
- Uppwywa, dowynipwihb L uynpunwiht Gwwuwnbtn pnwekihg 54,025.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
usL dumnutnN 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Lyhpwwnynigntbbbn ng yuwrwywnswywb (hwuwpwyuwywh) 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
wyn pyntd
- Lyhpwwunynieyntbotin wy whnyp shGnwwbnnn 20,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
N2 YrvuvuvuuuL U4YshyutNh AaoN4y ouuGN 490,432.2| 100,000.0 100,000.0( 260,000.0 260,000.0| 45,497.6 45,497.6 84,934.6 84,934.6
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Unyntuwy 08-02-05

1 2 3 4 5 6 7 8 9
<hULULUL UhaNsLEN 490,432.2] 100,000.0 100,000.0 260,000.0 260,000.0( 45,497.6 45,497.6 84,934.6 84,934.6
wjn pynd

CGULRGN 6U chUNHB3NFLLEN 100,000.0[ 100,000.0 100,000.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

- ChOptph L 2hbnLpgnLhGEph Yuwhuinwy Yepwinpngnti 100,000.0[ 100,000.0 100,000.0 0.0 0.0 0.0 0.0 0.0 0.0
UGeGLULGNh 64 UUN_UJNPNFULENh 6NRRGNNEU, 390,432.2 0.0 0.0 260,000.0 260,000.0{ 45,497.6 45,497.6 84,934.6 84,934.6
aULMULNEU BU pULULNNNGNEU

wjn pyntd

- Uy, 0bpEOwaEn L uwppwydnpniaGen 390,432.2 0.0 0.0 260,000.0 260,000.0| 45,497.6 45,497.6 84,934.6 84,934.6
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optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02

fudph 05 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib puwn

Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

Unyntuwy 08-02-05

wjn pyntd puwn dpwigntinh

MEnwywb wowygnipntlt wy
pwwnnnO0BphG L hwdbpgquihl

JuqiwyGpwnipintbbephb

MGunwywb wowygnipyintd dowynipwiht thongwreniibtph hpwywbwgdwbp

wjn pYntd puwn

wjn pYntd puwn

Znnywéh woywanidp JwuwnwpnnbGph z Jwuwwpnnlbph
S g
3 o S ] 3 = s ] o s o = =
5 < 3 3 < 3 c & S 2 3 < 3 €3 < 3 3 < 3 3
Sc cc S¢< © [N Se S c Ec Sc = g c sc
£5 c 3 §3 =3 g cc g3 33 =3 c 3 c 3 33 3 3
35. 25 25 =5 5 25 35S c S 35 25 gs = 5
3 55 c b [<E] =) 3 3 oD 35 S B 55 55 25 c b
c 3 =3 o3 >3 3 S s 33 c 3 53 =3 v 3 53 o3
Do i5 T v o v 2 = 3 o 3% [S3 5 T v o g v o
3 g s v & V= > =1 5 < c N g s c J & v S
c N 3 3 a v 3 3 Y 3 < 3 N 3 3 3
a N, b= b= =] S N =] =] b=} N, b=} b=} b= b=
10 11 12 13 14 15 16 17 18 19 20 21 22
LLAUUBLL DUUGN 186,114.3| 26,071.9( 46,449.5| 24,451.0| 678,555.3| 641,283.6| 3,278.2| 3,195.4| 2,563.6( 3,278.2| 3,542.3| 2,404.0| 3,457.7
wjn pynd
LUuBUSHhY DUUGN 186,114.3| 26,071.9( 46,449.5| 24,451.0| 678,555.3 641,283.6| 3,278.2| 3,195.4| 2,563.6( 3,278.2| 3,542.3| 2,404.0| 3,457.7
wjn pyntd
untRURAhULEN 186,114.3| 26,071.9( 46,449.5| 24,451.0| 678,555.3| 641,283.6| 3,278.2| 3,195.4| 2,563.6( 3,278.2| 3,542.3| 2,404.0| 3,457.7
wjn pynd
UnipuhnhwObn wewnwywb Yugdwytnpwneegntabspho 186,114.3| 26,071.9( 46,449.5| 24,451.0| 678,555.3 641,283.6| 3,278.2| 3,195.4| 2,563.6( 3,278.2| 3,542.3| 2,404.0| 3,457.7
wjn pyntd
- Untpuhnhwltn ng $howbuwywb wbnwywh 186,114.3| 26,071.9( 46,449.5| 24,451.0| 678,555.3| 641,283.6( 3,278.2| 3,195.4| 2,563.6| 3,278.2| 3,542.3| 2,404.0| 3,457.7
JuaquwytpwnipntGbephb
unshuLu4yuuLu LMUUSLEN B4 YEuuurNoUYwLEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Unghwijwywl ogbntpjwlb npuwdwywl wpunwhwpnnipwdp 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbbn (pntothg)
wyn pyntd
- Uppwlwl, dwynipwihb L uwnpunwihb GuwuwnGep pneetihg 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
usL dumnutnN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Lyhpwwnynigntbbbn ng yuwrwywnswywb (hwuwpwyuwywh) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
wyn pyntd
- Lyhpwunynipintbbep wy whnyp shGunwwlnnn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha
N2 YrvuvuvuuuL U4YshyutNh AaoN4y ouuGN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd




89¢

Unyntuwy 08-02-05

10 11 12 13 14 15 16 17 18 19 20 21 22
<hULULUL UhaNsLEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd

CGULRGN 6U chUNHB3NFLLEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

- ChOptph L 2h0nLpnLhGEph Yuwhuinwy YEpwanpngntd 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UGeGLULGNh 64 UUN_UJNPNFULENh 6NRRGNNEU, 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aULMULNEU BU pULULNNNGNEU

wjn pyntd

- Uy, 0bpEOwaEn L uwppwydnpniaGen 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02

fudph 05 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlniib puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

wyn pYntd pun 6pwagnk

nh

MEnwywl wowygnipntl

MEunwywb wowygnipintl

«dnnnypnwywby» ywwnywynn

dzwlnpwiG @phrthuhph M. Unwdjwlh ynstiwl wpdwlwgwé whdwbg
Uhongwrniilbph GG GhG SEOwW P
hnwywowgdwlp wOywhb pwuipnbh wibklowduw wwwnyny Awn
wjn pYntd pun wjn pYntd pun wyn pyntd pun
Znnywéh woywanidp Jwuwnwpnnbbph z Jwuwnwpnnbbph z Jwuwnwpnnltph
s 5 -3
S S S 3 = 3 2 s 33 =5
s2| €E2 | =2 s 2 & § |32.582323
3| s3| 22 g Se¢ o |3E£23Ez382:s
S5 | 25| 55 B 25¢< 5 |R5E52<5555
<% E D 35 =1 © 3 =] SE233 3 2=
>3 33 » 3 3 scs 3 SeE323833
g 5 T g = 353 = 335=33325
Vsl ¢s5| Ys | & v°2 S |33°35:E3
2|1v3| 3| © Y3 < 133 "3335°
=
23 24 25 26 27 28 29
LLAUUBLL DUUGN 7,171.7| 4,938.5| 3,442.1| 20,000.0 20,000.0| 54,025.9 54,025.9
wyn pyntd
LUuBUSHhY DUUGN 7,171.7| 4,938.5| 3,442.1| 20,000.0 20,000.0| 54,025.9 54,025.9
wjn pyntd
untRURAhULEN 7,171.7| 4,938.5| 3,442.1 0.0 0.0 0.0 0.0
wyn pyntd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 7,171.7| 4,938.5| 3,442.1 0.0 0.0 0.0 0.0
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 7,171.7| 4,938.5| 3,442.1 0.0 0.0 0.0 0.0
JuaquwytpwnipntGbephb
unshuLu4yuuLu LMUUSLEN B4 YEuuurNoUYwLEN 0.0 0.0 0.0 0.0 0.0| 54,025.9 54,025.9
wyn pynty
Unghwijwywl ogbntpjwlb npuwdwywl wpunwhwpnnipwdp 0.0 0.0 0.0 0.0 0.0| 54,025.9 54,025.9
Owwuwnbbn (pntothg)
wyn pyntd
- Uppwlwl, dwynipwiht L uwynpuwihG Guwuwnbbp pneetihg 0.0 0.0 0.0 0.0 0.0| 54,025.9 54,025.9
usL ouwugP 0.0 0.0 0.0 20,000.0 20,000.0 0.0 0.0
wyn pyntd
Lyhpwwnynigntbbbn ng yuwrwywnswywb (hwuwpwyuwywh) 0.0 0.0 0.0 20,000.0 20,000.0 0.0 0.0
YuaquwytpwnipntGbepha
wyn pyntd
- Lyhpwwunynieyntbotin wy whnyp shGnwwbnnn 0.0 0.0 0.0] 20,000.0 20,000.0 0.0 0.0
YuaquwytpwnipntGbepha
N2 hvUuuyuUL UuShduNrh aond oukuutnN 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

Unyntuwy 08-02-05



0.€

23 24 25 26 27 28 29
<hULULUL UhaNsLEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd

CGULRGN 6U chUNHB3NFLLEN 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd

- ChOptph L 2h0nLpnLhGEph Yuwhuinwy YEpwanpngntd 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UGeGLULGNh 64 UUN_UJNPNFULENh 6NRRGNNEU, 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aULMULNEU BU pULULNNNGNEU

wjn pyntd

- Uy, 0bpEOwaEn L uwppwydnpniaGen 0.0 0.0 0.0 0.0 0.0 0.0 0.0

Unyntuwy 08-02-05
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optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 06 nwuh dnwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybiywé N 1
Unjntuwy N 08-02-06

Unyntuwy 08-02-06

wyn pYntd pun dpwgntinh

MNEnwywh wewygnipntb

Uggwjhl Yhbnénpwantiph

MNEnwywlb wowygnipntl yhbEdwuinngnwdhwih hpwywlwgdwb Guywunwyny
yhunGywnbtnh ninpunLd wy wEwnwywb wewygnipntl
wnuwnpnijwln SwrwjnLpnLGbEph «{wjwutnwbh wgquwjhb
hpwywbwgdiwlp yhGnytaunpnb» MNUY-hG
LOnwikOp
nwuh wjn pYntd puwn wjn pYntd pun wjn pYntd puwn
Znnywéh woywanidp gnLawnp z Jwuwnwpnnbbph z Jwuwnwnpnnltph z JwuwnwpnnbGph
(hwqun & & g
npwatennd) - 2 < 2 < 2 <
el ] c & ol c & cl c &
3 S & 3 S & 3 S &
5 3 5 3 g 3
g ¥ 2 g ¥ 2 g Y2
= = =
1 2 3 4 5 6 7
puUUBLL SUUGN 617,485.4( 469,374.0 469,374.0( 54,162.0 54,162.0 93,949.4 93,949.4
wjn pynd
LUuBUSHhY DUUGN 602,713.4( 454,602.0 454,602.0( 54,162.0 54,162.0 93,949.4 93,9494
wjn pyntd
untRURAhULEN 602,713.4( 454,602.0 454,602.0( 54,162.0 54,162.0 93,949.4 93,949.4
wjn pynd
UnipuhnhwObn wewnwywb Yugdwytnpwneegntabspho 602,713.4( 454,602.0 454,602.0( 54,162.0 54,162.0 93,949.4 93,949.4
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 602,713.4( 454,602.0 454,602.0( 54,162.0 54,162.0 93,949.4 93,949.4
JuaquwytpwnipntGbephb
N2 rvUvuuvUL U4ShyucNrh aondy ouuutnN 14,772.0( 14,772.0 14,772.0 0.0 0.0 0.0 0.0
wyn pyntd
<hUuuuudu uh2angutnN 14,772.0( 14,772.0 14,772.0 0.0 0.0 0.0 0.0
wyn pyntd
uGecuuutNh G4 uureudnMrNidueNh Q6NRRGNNFY, 14,772.0( 14,772.0 14,772.0 0.0 0.0 0.0 0.0
nu<MuULNIY B4 <hUvuunrnanty
wjn pynd
- Uy opblwltn L uwppwynpniibbp 14,772.0( 14,772.0 14,772.0 0.0 0.0 0.0 0.0
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optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 02
fudph 07 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwbnidb pun
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybiywé N 1

Unyntuwy 08-02-07

Unjniuwy N 08-02-07

wyn pYnLd puwn dpwantinh

Bphthuhntd gunbGdnn hwy

MNEnwywh wewygnipintl

annnOtnph wwobpknbh «Mwundwiwyntpwihl 4nLpwndwblbph
wwhwwOdwh dwrwlgnipwl Jbpwywbgbowb gény Ughﬁgaaﬁﬂﬁﬁué&uﬁﬁﬁhu
Owwunwyny wewnwywb ghunwhGunwgnunuwywb wEwnwywl ywwnybn 2 o) n
wowygntpintl yGaunpnb» MAUY-hG
L Onwakh
rr.:lbuuuh L wyn pYntd pun wjn pYntd puwn wjn pYntd puwn wjn pYntd puwn
Znnywéh woywanidp gnLawnp z Jwuwnwpnnltph = Jwuwnwpnnbbph z JwuwnwpnnbGph z Jwuwwpnnlbph
(hwquin & 53 g g =
nnwatnnd) - 3 F 2 < ¢ 2 < 2 2
S 2. = S €z S €z S 3
=} c z o cc o cc ] 5
S 3 €< > c c = c c S =
3 5§85 3 35 2 35 2 35
3 scc 3 S s 3 S s 3 c 3
5 3§53 5 = 3 5 = 3 5 D &
g ¥°2 g ¥ 2 g Y2 g 2
S S S 3
(o1}
1 2 4 5 6 7 8 9
puUUBLL SUUGN 567,629.9| 4,000.0 4,000.0 55,429.9 55,429.9| 500,000.0 500,000.0| 8,200.0 8,200.0
wyn pyntd
puEUShY DUUGN 59,429.9| 4,000.0 4,000.0 55,429.9 55,429.9 0.0 0.0 0.0 0.0
wjn pyntd
untRURAhULEN 55,429.9 0.0 0.0 55,429.9 55,429.9 0.0 0.0 0.0 0.0
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 55,429.9 0.0 0.0 55,429.9 55,429.9 0.0 0.0 0.0 0.0
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 55,429.9 0.0 0.0 55,429.9 55,429.9 0.0 0.0 0.0 0.0
JuaquwytpwnipntGbephb
usL ouwnuenP 4,000.0| 4,000.0 4,000.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pynty
Ldhpwunynipyintbbbn ng Yurwywnswywb (hwuwpwywywl) 4,000.0| 4,000.0 4,000.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtpha
wyn pyntd
- LyhpwunynipyntbOtip wy whnyp shGunwwlnnn 4,000.0| 4,000.0 4,000.0 0.0 0.0 0.0 0.0 0.0 0.0
JuaquwytpwnipntGbephb
N2 dhuvuvvuvuu U4sShdyuNh aond cukuueP 508,200.0 0.0 0.0 0.0 0.0 500,000.0 500,000.0( 8,200.0 8,200.0
wyn pyntd
<pULuuuL UhansuenN 508,200.0 0.0 0.0 0.0 0.0 500,000.0 500,000.0| 8,200.0 8,200.0
wyn pyntd
CEULRLN bd ChuNt@3NtLLEN 418,200.0 0.0 0.0 0.0 0.0 410,000.0 410,000.0| 8,200.0 8,200.0
wyn pyntd
- GtGpbnh L 2hGnignbbeph 2hGwpwpnignLh 410,000.0 0.0 0.0 0.0 0.0] 410,000.0 410,000.0 0.0 0.0




€€

Unyntuwy 08-02-07

1 2 6 7 8

- ChOptph L 2hGnLpnLbGbph Yuwhuiwy YEpwinpngnt 8,200.0 0.0 0.0 0.0 0.0 0.0 0.0] 8,200.0 8,200.0
usL <~ULUYUL Uh2NsuEn 90,000.0 0.0 0.0 0.0 0.0[ 90,000.0 90,000.0 0.0 0.0
wjn pyntd

- Lwuwgdwhbinwgnunwwb swiuutn 90,000.0 0.0 0.0 0.0 0.0] 90,000.0 90,000.0 0.0 0.0
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwrliwywl nwuwywngiwb 08 pwdth 03
fudph 01 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn

Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybiywé N 1
Unjntuwy N 08-03-01

Unyntuwly 08-03-01

wjn pYntd puwn dpwgntinh

Qnpéwnhp h2luwlnipuwa,
wtnwywl yuwrwywpdiwb
hwOpwwGwnwywb L
nwnwdépwiht Yurwywpiwl
dwnaohbbeph ywhwwOnid

LGrniunwhwnnpnniittph
wuwuinnpuwundwb L
hGrwpdwydwl Guywwnwyny
wenwywl wowygnipntl
«Lwjwuinwbh hwbpwihb
hGrniunnwpOytpngnLo» ORLO -

Nwnhnhwnnpnnidbsph
wwwnpwundwb b
htrwpdwyiwb Guywwnwyny
wbunwywb wowygnipintl
«Lwjwunwbh hwbpwhb
rwnhnpOytpnipnLi» ®RLC - hb

ha
COnwaklp wyn pYntd puwnn wjn pYntd puwn wyjn pYntd pun
nwuh Jwuwnwpnnbbph Jwuwwpnnbtph Jwuwwpnnbbph
<nnywdh wayqwbnidp gnLiwnp = = =
= = =
(hwaquip =3 = S % c S % =3 S %
nnwabtnny) g S = g - g sc
3 32 3 c 3 3 c 3 3 c
5 €52 | §5 5 S5 5 S5
o SSE 32 & o 32 E o 32 E
= 53% £ cgZ 3 £ cgZ = £ cz
3 sc3 | SE¢ = SE< 3 SE<
3 35 | 33€ 3 33€ 3 33¢
S S =3 SE=2 S SE=2 S S§=2
a 553 5 3 a 53 a 53
g3 | 35 35 35
o 5 5 5 J 5
< < g < g < g
i) i) i)
< < e
1 2 3 4 5 6 7 8
LLAUUBLL DUUGN 3,408,824.0( 202,493.3| 106,269.5( 96,223.8 2,302,187.6 2,302,187.6 691,772.2 691,772.2
wjn pynd
LUuBUShY DUuUGN 3,396,404.0( 191,493.3| 95,269.5( 96,223.8 2,302,187.6 2,302,187.6 691,772.2 691,772.2
wjn pyntd
uchuusuuLh Jyurusrni@3ntu 149,829.5( 149,829.5| 78,721.3( 71,108.2 0.0 0.0 0.0 0.0
wjn pynd
Twind JAwnynn wuwwnwywndtn b hwybwyfwpbbn 130,827.1| 130,827.1| 68,585.9| 62,241.2 0.0 0.0 0.0 0.0
wjn pynLd
- UpuwwnnnObph wiuwwnwywndbn b hwybwyfwpbbn 125,956.6| 125,956.6( 63,715.4| 62,241.2 0.0 0.0 0.0 0.0
- Punwpwghwywl, nwunwywb b weunwywb wy 4,870.5 4,870.5 4,870.5 0.0 0.0 0.0 0.0 0.0
Swrwjnntbph wwpglwwnpnid
Quuwnwgh unghwjwywl wwywhnynipwb y&wnlep 19,002.4( 19,002.4( 10,1354| 8,867.0 0.0 0.0 0.0 0.0
(gnpéwnnth Ynndhg)
ounusnt@3ntuuNrh G4 UNNrULLeLENh QENLRRENNFU 103,507.8 40,499.8| 15,420.2 25,079.6 0.0 0.0 0.0 0.0
wjn pyntd
Swpnibwywywb dwiuukn 15,571.1| 15,571.1 6,855.5| 8,715.6 0.0 0.0 0.0 0.0
wyn pyntd
- EGGpgbuinhy SwrewnipynLbGbp 2,095.0 2,095.0 2,095.0 0.0 0.0 0.0 0.0 0.0
- UndntOwy SwrwynLpNLGlEn 138.8 138.8 138.8 0.0 0.0 0.0 0.0 0.0
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1 2 3 4 5 6 7 8
- Ywuwh Swrwjnieintbbbn 9,749.3 9,749.3 4,621.7| 5,127.6 0.0 0.0 0.0 0.0
- Qnuph L uwppwynpniibbph ywpdwywinipnta 3,588.0 3,588.0 0.0l 3,588.0 0.0 0.0 0.0 0.0
Anpéninnuibbph L 2powgquinipintbbbph dwiuubp 13,008.0( 13,008.0 1,008.0( 12,000.0 0.0 0.0 0.0 0.0
Muwjdwlwagnuihb wy Swewnupyntbbph dGrpptpned 64,158.0 1,150.0 650.0 500.0 0.0 0.0 0.0 0.0
wyn pyntd
- SbnGYwwnywywb swewjnipyntbOtn 63,158.0 150.0 150.0 0.0 0.0 0.0 0.0 0.0
- LbpYuwywgnigswlwb Swiuubn 1,000.0 1,000.0 500.0 500.0 0.0 0.0 0.0 0.0
LOpwghy Gnpngntd L wwhwwbnd (Swrewjnegintbbtn L 2,002.2 2,002.2 1,502.2 500.0 0.0 0.0 0.0 0.0
Qynupkin)
wjn pyntd
- Ubptbwatph L uwppwynnpniibtph ppwghy Gnpngned L 2,002.2 2,002.2 1,502.2 500.0 0.0 0.0 0.0 0.0
wwhwwbntd
Ujniptin 8,768.5 8,768.5 5,404.5( 3,364.0 0.0 0.0 0.0 0.0
wjn pyntd
- Qpwublwywhb Wneetn L hwgniuwn 1,618.5 1,618.5 1,318.5 300.0 0.0 0.0 0.0 0.0
- Spwluwnpunwihb Ojnptn 7,064.0 7,064.0 4,000.0( 3,064.0 0.0 0.0 0.0 0.0
- UGagwnwihb L hwOpwihG ubGnh OneRtn 86.0 86.0 86.0 0.0 0.0 0.0 0.0 0.0
untrUbLNhULEN 40,552.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Untpuhnhwbtbp wtnwywb YuwqiwybpwnipintGGephb 40,552.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pynty
- Untpuhnhwbp ng $howbuwywb wEunwywb 40,552.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb
anuuucunNPLuen 3,101,350.7 0.0 0.0 0.0 2,302,187.6 2,302,187.6 691,772.2 691,772.2
wyn pyntd
LOpwghy npwiwzbnphbbn wewnwywb hwuinydwdéh wy 2,812,958.0 0.0 0.0 0.0 2,023,794.9 2,023,794.9 681,772.2 681,772.2
Jwywpnwybepho
wjn pynd
- COpwghy npwdwbnphbbp wewnwywb webnpwih 2,812,958.0 0.0 0.0 0.0 2,023,794.9 2,023,794.9 681,772.2 681,772.2
JuaqiwytpwnipntGbephba
Ywwhuw) nhwdwb0nphbbn wewnwywb hwunygwéh wy 288,392.7 0.0 0.0 0.0 278,392.7 278,392.7 10,000.0 10,000.0
Jwywnpnwybephb
wyn pyntd
- Ywwhwnw| npwdw0nphbbp wenwywb welinpwihb 288,392.7 0.0 0.0 0.0 278,392.7 278,392.7 10,000.0 10,000.0
JuaquwytpwnipntGbephb
unshuLu4yuu uMuUUSLEN B4 ysuuuNouuwLLN 1,080.0 1,080.0 1,080.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 1,080.0 1,080.0 1,080.0 0.0 0.0 0.0 0.0 0.0
Guwuwnbbp (pinLekihg)
wjn pyntd
- Uy bwywuwnbbn pniobihg 1,080.0 1,080.0 1,080.0 0.0 0.0 0.0 0.0 0.0
u3L ouwugP 84.0 84.0 48.0 36.0 0.0 0.0 0.0 0.0

wyn pynLd
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1 2 3 4 8
<wnytn, wwpuwnhp Jawnbtp L wnnydtn, npnbp 84.0 84.0 48.0 36.0 0.0 0.0 0.0 0.0
Ywrwywndwl wnwpptp dwwpnwybtph ynnihg Yhpweyned
60 ohyjwbg GYwwndwdp
N2 rvUvuuvuUL U4ShyuNrh aondy ouuutnN 12,420.0( 11,000.0| 11,000.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
<pULuuuL UhansuenN 12,420.0( 11,000.0| 11,000.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
uGecuuutNh 64 uurLudnMNiULENh Q6NLRGNNEY, 12,420.0( 11,000.0] 11,000.0 0.0 0.0 0.0 0.0 0.0
nu{nuLNiy 64 <pyuunrNanty
wjn pyntd
- Spwluwnpuwhb uwnpwynpnidtbp 11,000.0( 11,000.0] 11,000.0 0.0 0.0 0.0 0.0 0.0
- Uy obpblwbtn L uwppwynpnidbbn 1,420.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwrliwywl nwuwywngiwb 08 pwdth 03
fudph 01 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

Unyntuwly 08-03-01

wyn pYnLd puwn dpwagntiph

NwnhnhGrniunnwunbuwhl <wuwnwywywb Ywpshph MEnwywl wowygnipntb
hwnnpnniiGeph ywunpwundwb b «Uhn» dhgwului nruntdOwuhpiwl Gwywwnwyny «SOnbuwyw
herntunnwrwnhnpGytpnLpjwb
htrwpdwydwb Guywunwyny onLib 0o EnnLd wewnwywl wowygnepntl pwnbtnuniibeph
wbwnwywb wowygnipntt «GChpwyh b annont Um?wu whéu pnt 0 «{wuwnwywywb Ywnshph Jenntswywb
hwOpwjhG heeniunnwrewnhny OLLC ijumué h Uw nl’lél'uu tnnLR ntuntdbwuhpdwb Yebuipnb» wnbnGywunywywb
- ha Wwubwpwdh OPL-hG Y&GwPNG» MNUY-hG
wyn pYntd pun wyn pYntd puwn wjn pYntd puwn wjn pYntd pun
Jwuwwnpnnbtph Ywuwwnpnnltph Jwuwwnpnnbtph Jwuwwpnnbbph
<nnywdh wayqwbnidp = =
= 3 = = 3 =
= 2 £ £ 25 £
o Sz (<3 53 = (<3 =)
3 3 c 3 =1 3 3 c 3 35
c c 5 c c c c c 5 =R @ o
&3 ST o £ [ o S3 o £ = 3
ci 32 c = Z 2 = 32 c = cE =
=] £ == =) 5 c =] £ == =) 33
L cc £ L L cc £ L
=] S=< =1 3 3 =1 S=< =1 =S
3 33 € 3 55 3 33 € 3 33
= = 3 = = <
a 53 a N, a 53 a 59
35 E 35 <3
S S M
<] o
i) i)
< e
9 10 11 12 13 14 15 16
LLAUUBLL DUUGN 22,961.9 22,961.9 74,429.0 74,429.0 10,000.0 10,000.0| 41,972.0 41,972.0
wyn pyntd
LUuBUShY DUuUGN 22,961.9 22,961.9 74,429.0 74,429.0 10,000.0 10,000.0| 40,552.0 40,552.0
wjn pyntd
uchuusuuLh Jyurusrni@3ntu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynd
Apwainyd y&wnpynn wfuwwnwywpdbp L hwybjuwydwpobp 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pynLd
- Uzfuwwnnnbbph wzfuwwnwywnétn b hwy Gjuggwnbbn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Punwpwghwywl, nwunwywb b weunwywb wy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Swrwjnntbph wwpglwwnpnid
Quuwnwgh unghwjwywl wwywhnynipwb y&wnlep 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
(gnpéwnnth Ynndhg)
ounusnt@3ntuuNrh G4 UNNrULLeLENh QENLRRENNFU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Cwpnibwywywb dwfuubn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- EbGpgbuinhy swrwjnipintGGbn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- UndntOwy SwrwynLpNLGlEn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




8.¢

Unyntuwly 08-03-01

9 10 11 12 13 14 15 16
- Ywuwh dwrwjnipiNLbO6n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Qnyph L uwnppwynpnidbeph Jwpédwywinteintb 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Qnpéninniibtnh L 2powquynipntbbbph wfuubn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Muwjdwlwagnuihb wy Swewnupyntbbph dGrpptpned 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
- StntYwwnywywl SwrwjnienLabbn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- LbpYuwywgnigswlwb Swiuubn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
LOpwghy Gnpngned L wwhwwOnid (Swewjnipintaabn L 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Qynupkin)
wjn pyntd
- Ubptbwatph L uwppwynnpniibtph ppwghy Gnpngned L 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wwhwwbntd
Ujniptin 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- Qpwubluywihb Gneebp L hwagniuwn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Spwluwnpunwihb Ojnptn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- UGagwnwihb L hwOpwihG ubGnh OneRtn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
untrUbLNhULEN 0.0 0.0 0.0 0.0 0.0 0.0| 40,552.0 40,552.0
wyn pyntd
Untpuhnhwbn wewnwywb Yuqiwybnpwneentabepho 0.0 0.0 0.0 0.0 0.0 0.0| 40,552.0 40,552.0
wyn pyntd
- Untpuhnhwbp ng $howbuwywb wEunwywb 0.0 0.0 0.0 0.0 0.0 0.0 40,552.0 40,552.0
JuaqiwytpwnipntGbephba
anuuucunNPLuen 22,961.9 22,961.9 74,429.0 74,429.0 10,000.0 10,000.0 0.0 0.0
wyn pyntd
LOpwghy npwiwzbnphbbn wewnwywb hwuinydwdéh wy 22,961.9 22,961.9 74,429.0 74,429.0 10,000.0 10,000.0 0.0 0.0
dwywnpnwybtnhb
wjn pynd
- LOpwghy npwiwtnphObp wEwnwywb welinpuwihl 22,961.9 22,961.9 74,429.0 74,429.0 10,000.0 10,000.0 0.0 0.0
JuaqiwytpwnipntGbephba
Ywuwhwwy npwidwtnphbbp wEunwywb hwunygwéh wy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Jwywpnwybenhb
wyn pyntd
- Ywwhwnwy nhwidw0nphitp wenwywb webnpuwih 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JuaquwytpwnipntGbephb
unshuLu4yuu uMuUUSLEN B4 ysuuuNouuwLLN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Owwuwnbtn (pinotihg)
wjn pyntd
- Uy bwywuwnbbn pniobihg 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
u3L ouwugP 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

wyn pynLd
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10 11 12 13 14 15 16
<wnytn, wwpuwnhp Jawnbtp L wnnydtn, npnbp 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywrwywndwl wnwpptp dwwpnwybtph ynnihg Yhpweyned
60 ohyjwbg GYwwndwdp
N2 rvUvuuvuUL U4ShyuNrh aondy ouuutnN 0.0 0.0 0.0 0.0 0.0 0.0| 1,420.0 1,420.0
wyn pyntd
<hUuuuuuu uh2nsutnN 0.0 0.0 0.0 0.0 0.0 0.0 1,420.0 1,420.0
wyn pyntd
uGecuuutNh 64 uurLudnMNiULENh Q6NLRGNNEY, 0.0 0.0 0.0 0.0 0.0 0.0 1,420.0 1,420.0
nu{nuLNiy 64 <pyuunrNanty
wjn pyntd
- Spwluwnpunwihbt uwppwynpniilbp 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Uy obpblwbtn L uwppwynpnidbbn 0.0 0.0 0.0 0.0 0.0 0.0 1,420.0 1,420.0
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optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwrliwywl nwuwywngiwb 08 pwdth 03
fudph 01 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

wyn pYntd puwn dpwigntinh

MGunwywb gunuibbph
hpwwwpwywjtnepjwb
wwwhnydwb gony
wEunwywb ywunybn

wjn pYntd puwn

Jwuwwpnnltph
<nnywdh wayqwbnidp
Z
[
e s 3
o = c
cc &
o 55%
= 53 =
= 253
3 3cc
s 22 3
a o =l
v 3
v S
17 18
LLAUUBLL DUUGN 63,008.0 63,008.0
wjn pynd
LUuBUShY DUuUGN 63,008.0 63,008.0
wjn pyntd
uchuusuuLh Jyurusrni@3ntu 0.0 0.0
wjn pynd
Twind JAwnynn wuwwnwywndtn b hwybwyfwpbbn 0.0 0.0
wjn pynLd
- UpuwwnnnObph wiuwwnwywndbn b hwybwyfwpbbn 0.0 0.0
- Punwpwghwywl, nwunwywb b weunwywb wy 0.0 0.0
Swrwjnntbph wwpglwwnpnid
Quuwnwgh unghwjwywl wwywhnynipwb y&wnlep 0.0 0.0
(gnpéwnnth Ynnihg)
ounusnt@3ntuuNrh G4 UNNrULLeLENh QENLRRENNFU 63,008.0 63,008.0
wjn pyntd
Cwpnibwywywb dwfuubn 0.0 0.0
wyn pyntd
- EbGpgbuinhy swrwjnipintGGbn 0.0 0.0
- UndntOwy SwrwynLpNLGlEn 0.0 0.0

Unyntuwly 08-03-01



18¢

17 18
- Ywuwh dwrwjnipiNLbO6n 0.0 0.0
- Qnyph L uwnppwynpnidbeph Jwpédwywinteintb 0.0 0.0
Anpéninnuibbph L 2powgquinipintbbbph dwiuubp 0.0 0.0
Muwjdwlwagnuihb wy Swewnupyntbbph dGrpptpned 63,008.0 63,008.0
wyn pyntd
- SbnGYwwnywywb swewjnipyntbOtn 63,008.0 63,008.0
- LbpYuwywgnigswlwb Swiuubn 0.0 0.0
LOpwghy Gnpngned L wwhwwOnid (Swewjnipintaabn L 0.0 0.0
Qynupkin)
wjn pyntd
- UbpbOwotnh L uwppwynpnidGbph pbpwghy Gnpngned L 0.0 0.0
wwhwwbntd
Ujniplp 0.0 0.0
wjn pyntd
- Qpwubluywihb Gneebp L hwagniuwn 0.0 0.0
- Spwluwnpunuwihb Ojneptn 0.0 0.0
- UGagwnwihb L hwOpwihG ubGnh OneRtn 0.0 0.0
untpUhIhULEGN 0.0 0.0
wyn pyntd
Untpuhnhwbtbp wtnwywb YuwqiwybpwnipintGGephb 0.0 0.0
wyn pynty
- Untpuhnhwbp ng $howbuwywb wEunwywb 0.0 0.0
Ywagiwytnwnigntbbtphb
anuuucunNPLuen 0.0 0.0
wyn pyntd
LOpwghy npwiw0nphOtn wenwywb hwnywdéh wy 0.0 0.0
Jwywpnwybepho
wyn pyntd
- COpwghy npwdwbnphbbp wewnwywb webnpwih 0.0 0.0
Ywagiwytnwnigntbbtphb
Ywuwhwwy npwidwtnphbbp wEunwywb hwunygwéh wy 0.0 0.0
Jwywnpnwybephb
wyn pyntd
- Ywwhwnwy nhwidw0nphitp wenwywb webnpuwih 0.0 0.0
JuaquwytpwnipntGbephb
unshuLu4yuu uMuUUSLEN B4 ysuuuNouuwLLN 0.0 0.0
wjn pyntd
Unghwjwywb ogbntpjwl npwiwywb wpunwhwjunnipjuip 0.0 0.0
Guwuwnbbp (pinLekihg)
wjn pyntd
- W Gwywuinbtp pintpbng 0.0 0.0
u3L ouwugP 0.0 0.0

wyn pynLd

Unyntuwly 08-03-01



28¢

17 18
<wnytn, wwpuwnhp Jawnbtp L wnnydtn, npnbp 0.0 0.0
Ywrwywndwl wnwpptp dwwpnwybtph ynnihg Yhpweyned
60 ohyjwbg GYwwndwdp
N2 rvUvuuvuUL U4ShyuNrh aondy ouuutnN 0.0 0.0
wyn pyntd
<pULuuuL UhansuenN 0.0 0.0
wyn pyntd
uGecuuutNh 64 uurLudnMNiULENh Q6NLRGNNEY, 0.0 0.0
nu{nuLNiy 64 <pyuunrNanty
wjn pyntd
- Spwluwnpunwihbt uwppwynpniilbp 0.0 0.0
- W dbptOwltn L uwppwydnpnidbtn 0.0 0.0

Unyntuwly 08-03-01



€8¢

«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwrliwywl nwuwywngiwb 08 pwdth 03
fudph 02 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybiywé N 1

Unyntuwy 08-03-02

Unjntuwy N 08-03-02

wyn pyntd puwn dpwgntinh

MEnwywl wewygnipintl
wGwnwywb dwadnth

Qpwywbnigywb
hpwwnwpwydwb gény

MEnwywl wewygnipintt
ghunnwywb wduwgpbph L

MEnwywb wewygnepntl
«EynGnahyw» hwbntu»

uGbwagnnipinLbUEph
hpwwnwpwydwbp wEwnwywl wwuwnybp hpwawpwydwap ORL - h
LOnwukOp
nwuh w
n pYnLd puwn wyn pYnLd pun wjn pYntd pun wjn pYntd puwn
<nnywoh wiywanudp ?Rﬁﬁr? = Jwuwwpnnbbph z Jwuwwpnnbtph z Jwuwwpnnbbph z Jwuwwpnnbbph
npwdttpnd) | & S g 3 g s 3 g s 3
. . C . . C . = c c =4 c
o [ © [ © Es® © SE&®
ol Z2 ol Z 2 ol =3¢ = S3¢2
3 5E 3 5E 3 S2C 3 S2¢<
=] 3 3 = 3 3 = ‘5 5 3 =) § = 3
3 VJN c 3 VJN c 3 3 c 3 S c
5 3 5 3 5 223 5 223
a V& a V& a S5 a S
3 3 v 3 v 3
S S v S v S
1 2 3 4 5 6 7 8 9
pLAUUGLL DUuUGN 910,299.5( 60,138.9 60,138.9| 135,392.4 135,392.4| 41,903.3 41,903.3| 38,633.1 38,633.1
wyn pyntd
LULBUSHhY DUUGN 910,299.5( 60,138.9 60,138.9| 135,392.4 135,392.4| 41,903.3 41,903.3| 38,633.1 38,633.1
wyn pynty
ounusnt@3ntuuNrh G4 UNNrULLeLENh QENLRRENNFU 570,419.0 0.0 0.0| 135,392.4 135,392.4 0.0 0.0 0.0 0.0
wyn pyntd
Nuyiwbwanwihb wy Swrewjnigintbbbph derpptpned 570,419.0 0.0 0.0] 135,392.4 135,392.4 0.0 0.0 0.0 0.0
wyn pyntd
- StntYwwny wywl SwrewnipnLabbn 570,419.0 0.0 0.0| 135,392.4 135,392.4 0.0 0.0 0.0 0.0
untRUhLAhULEGN 227,880.5( 60,138.9 60,138.9 0.0 0.0| 41,903.3 41,903.3| 38,633.1 38,633.1
wyn pyntd
Unipuhnhwtn wewnwywb Yuqiwytnpwneentabsph 227,880.5( 60,138.9 60,138.9 0.0 0.0] 41,903.3 41,903.3| 38,633.1 38,633.1
wjn pyntd
- Untpuhnhwltn ng $hOwbuwywl wybnwywh 227,880.5( 60,138.9 60,138.9 0.0 0.0| 41,903.3 41,903.3| 38,633.1 38,633.1
JuaqiwytpwnipntGbephba
anuuucunrLuen 102,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
LOpwghy npwiw0nphOtp wewnwywb hwnywdh wy 102,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Gwywpnwyatnhb
wjn pyntd
- COpwghy npwdwbnphbtp wewnwywb ng webinpuih 102,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnpwnigntbbtphb
usL ouwugP 10,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pynLd




¥8¢

Unyntuwy 08-03-02

1 2 4 6 8
Ldhpwuwunynipintblbp ng Yurwywnswywb (hwuwpwywywl) 10,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JuquwytpwnipntGbephb
wjn pyntd
- Uyhpwunynipintbbep wy whnyp shGunnwwlnnn 10,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

YuaquwytpwnipntGbepha




G8¢

«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4

optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwrliwywl nwuwywngiwb 08 pwdth 03

fudph 02 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

Unyntuwy 08-03-02

wjn pYnLd puwn dpwgntip

MEnwywl wewygnipintl
ns wewnwywb dwdnth

MEnwywb wewygnipntl
Gwiywywl, S wtywwwunwbsywh
pEPRENN L wduwantph

Lpunwipwyniibtph gényd whunwywb

wwwnytp

hpwwnwpwydwbp hpwunwpwydwap
wjn pYntd pun wjn pYntd pun wyn pYntd pun
<nnuish wiulinudp < | wwnwpnnabnh - YuinwnnnGnh - YunwnnnGtnh
3 g £ =
] 2 ] 5 2 g 33 sl = 2
c c C c c c © c = c < c
© [ © Ss & © Z & c ] &&=
ci = = = 33 z ci =g = = 53 =
c c T = c S c c =] c
= S c 3 e Fc = 3¢c 3 5¢c >SZ2 ¢
=} 3 3 =} S g3 =} Y 23 So 3 ‘3 = 3
5 3 5 523 5 z 3 353 223
a N ‘g— a N % a 3 % M % oz ‘;-
S S 5 S S v S
10 11 12 13 14 15 16 17
pLAUUGLL DUuUGN 46,3771 46,3771 40,828.1 40,828.1| 345,685.5| 227,161.0| 67,904.5| 50,620.0
wyn pyntd
LULBUSHhY DUUGN 46,3771 46,377.1 40,828.1 40,828.1| 345,685.5( 227,161.0 67,904.5 50,620.0
wyn pyntd
ounusnt@3ntuuNrh G4 UNNrULLeLENh QENLRRENNFU 0.0 0.0 0.0 0.0| 345,685.5| 227,161.0| 67,904.5| 50,620.0
wyn pyntd
Nuwydwbwagnuiht wy Swewnupyntb0bph dGrpptpnid 0.0 0.0 0.0 0.0 345,685.5| 227,161.0| 67,904.5| 50,620.0
wjn pynd
- StntYwwny wywl SwrewnipnLabbn 0.0 0.0 0.0 0.0| 345,685.5| 227,161.0| 67,904.5| 50,620.0
untRUhLAhULEGN 46,377.1 46,377.1 40,828.1 40,828.1 0.0 0.0 0.0 0.0
wjn pynLd
Untpuhnhwlbp wtwnwywb YuwgdwybpwnipyntbOtph 46,3771 46,3771 40,828.1 40,828.1 0.0 0.0 0.0 0.0
wjn pyntd
- Untpuhnhwltn ng $hOwbuwywl wybnwywh 46,377.1 46,377.1 40,828.1 40,828.1 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb
anuuucunrLuen 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
LOpwghy npwiw0nphOtp wewnwywb hwnywdh wy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Gwywpnwyatnhb
wjn pyntd
- LOpwghYy npwdw0nphbbp wEunwywb ng weluinpwihG 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnpwnigntbbtphb
usL dumnutnP 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pynLd




98¢

Unyntuwy 08-03-02

10 11 12 13 14 15 16 17
Ldhpwuwunynipintblbp ng Yurwywnswywb (hwuwpwywywl) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JuquwytpwnipntGbephb
wjn pyntd
- Uyhpwunynipintbbep wy whnyp shGunnwwlnnn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

YuaquwytpwnipntGbepha




18€

«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4

optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwrliwywl nwuwywngiwb 08 pwdth 03

fudph 02 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

Unyntuwy 08-03-02

wjn pYntd puwn dpwgntinh

MEnwywl wewygnipintl
«dpwuwnwb» pbpeph
hpwwnwpwydwbp

[Bwngiwbswywb
wpfuwwnwbpltnh
hpwywlbwgdwb
Owwunwyny wewnwywb
wowygntpintl «££
thnpdwghwnwywb
yaunpnG» MAUY-hG

Uwulwynnptgynn
wEwnwywlb gnyph
ybpwptnu
wnbnGYnLpnLbbEnh
hpwwwpwyiwb gény
wEwnwywl ywwybn

Ppwdwpwlwyw
wnbndhGwpwOnLpywb
quipgugnLd

wjn pYntd pun wyn pYnLd pun wjn pYntd pun wjn pYntd pun
<nnuish wiulinudp = Jwowpmotph | = [ ywowpmotph | = yweowpeneeph | <] ywwpnnatnh
c c c c
c c c .
g s g EE g 533 g EE
s 2 £ s gE s E3 S £ gL
“© _& 9 “© c % “© e 3 3= “© c %
5 3EE S SE S EZSE g S g
3 53 3 3 v 23 3 332¢ = Y 23
3 Scs 3 35 3 3c3c¢ 3 35
S 5% | 2 22 | 2| iE25 | & 23
a v 5 a 25 a 3368~ a 25
S (= v e (=
3 v 3 & 3
18 19 20 21 22 23 24 25
pLAUUGLL DUuUGN 10,000.0 10,000.0| 102,000.0 102,000.0( 18,341.1 18,341.1| 13,000.0 13,000.0
wyn pyntd
LULBUSHhY DUUGN 10,000.0 10,000.0( 102,000.0 102,000.0( 18,341.1 18,341.1| 13,000.0 13,000.0
wyn pyntd
ounusnt@3ntuuNrh G4 UNNrULLeLENh QENLRRENNFU 0.0 0.0 0.0 0.0| 18,341.1 18,341.1| 13,000.0 13,000.0
wyn pyntd
Nuyiwbwanwihb wy Swrewjnigintbbbph derpptpned 0.0 0.0 0.0 0.0 18,3411 18,341.1| 13,000.0 13,000.0
wyn pyntd
- StntYwwny wywl SwrewnipnLabbn 0.0 0.0 0.0 0.0| 18,341.1 18,341.1| 13,000.0 13,000.0
untRUhLAhULEGN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pyntd
Untpuhnhwlbp wtwnwywb YuwgdwybpwnipyntbOtph 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wjn pyntd
- Untpuhnhwbtp ng phbwbuwyuwb wbnwywb 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb
anuuucunrLuen 0.0 0.0| 102,000.0 102,000.0 0.0 0.0 0.0 0.0
wyn pyntd
LOpwghy npwiw0nphOtp wewnwywb hwnywdh wy 0.0 0.0 102,000.0 102,000.0 0.0 0.0 0.0 0.0
Gwywpnwyatnhb
wjn pyntd
- COpwghy npwdwbnphbtp wewnwywb ng webinpuih 0.0 0.0 102,000.0 102,000.0 0.0 0.0 0.0 0.0
Ywagiwytnpwnigntbbtphb
usL dumnutnP 10,000.0 10,000.0 0.0 0.0 0.0 0.0 0.0 0.0
wyn pynLd




88¢

Unyntuwy 08-03-02

18 19 20 21 22 23 24 25
Ldhpwuwunynipintblbp ng Yurwywnswywb (hwuwpwywywl) 10,000.0 10,000.0 0.0 0.0 0.0 0.0 0.0 0.0
JuquwytpwnipntGbephb
wjn pyntd
- Uyhpwunynipintbbep wy whnyp shGunnwwlnnn 10,000.0 10,000.0 0.0 0.0 0.0 0.0 0.0 0.0
YuaquwytpwnipntGbepha




68¢€

«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwrliwywl nwuwywngiwb 08 pwdth 03
fudph 02 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

wyn pyntd

puwn dpwigntiph

{wjwunwOh hpwywywb
wnbnGywunywywb
hwdwywngh qupgugntd

«Mwzunnbwywb

hwjnwpw
Yuwyptoh unt

nniynLGbGn»
nontd L Jupnid

wjn pYntd pun wyn pYntd pun
<nnuish wiulinudp < |uwnwpmnobeh | > | ywownnnonh
c c
c c
3 EE g EE
. ®© c . ®© c
= = S £ s
S S ¢ S S ¢
B v35 B v 35
2 VEE 2 VEE
E £3 s c3
S S
3 3
26 27 28 29
pLAUUGLL DUuUGN 23,000.0 23,000.0 35,000.0 35,000.0
wyn pyntd
LULBUSHhY DUUGN 23,000.0 23,000.0 35,000.0 35,000.0
wyn pyntd
ounusnt@3NtuuNrh G4 UNNPULLLENh QGNRRENMNIU | 23,000.0 23,000.0 35,000.0 35,000.0
wyn pyntd
Nuwydwbwagnuiht wy Swewnupyntb0bph dGrpptpnid 23,000.0 23,000.0 35,000.0 35,000.0
wjn pynd
- SbnGYwwnywywb Swewjnientbbtn 23,000.0 23,000.0 35,000.0 35,000.0
untRUhLAhULEGN 0.0 0.0 0.0 0.0
wjn pynLd
Untpuhnhwlbp wtwnwywb YuwgdwybpwnipyntbOtph 0.0 0.0 0.0 0.0
wjn pyntd
- Unipuhnhwbp ng $h0wbuwywb wyEunwywb 0.0 0.0 0.0 0.0
Ywagiwytnwnigntbbtphb
anuuucunrLuen 0.0 0.0 0.0 0.0
wyn pyntd
LOpwghy npwiw0nphOtp wewnwywb hwnywdh wy 0.0 0.0 0.0 0.0
Gwywpnwyatnhb
wjn pyntd
- LOpwghYy npwdw0nphbbp wEunwywb ng weluinpwihG 0.0 0.0 0.0 0.0
Ywagiwytnpwnigntbbtphb
usL dumnutnP 0.0 0.0 0.0 0.0
wyn pynLd

Unyntuwy 08-03-02



06¢

26 27 28 29
Ldhpwuwunynipintblbp ng Yurwywnswywb (hwuwpwywywl) 0.0 0.0 0.0 0.0
JuquwytpwnipntGbephb
wjn pyntd
- Uyhpwunynipintbbep wy whnyp shGunnwwlnnn 0.0 0.0 0.0 0.0

YuaquwytpwnipntGbepha

Unyntuwy 08-03-02
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwrliwywl nwuwywngiwb 08 pwdth 03
fudph 03 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb pun
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

wjn pYnLd puwn pwantiph

StnGYwwnynipywb
dbrpptndwl, wwhwywbaiwb
L wpuhduwgiwl gény
wEwnwywl wewygnpntl
«UpdikOwntu» ©RL-hG

JuaquwytpwnipntGbephb

LOnwikOp
nwuh wjn pYntd puwn
<Znnywéh woywonidp gniwnp =z YuinwnnnGtph
(hwqun 53
=
nnwadtnny) 3 < 2
© g o
= cc
9
g Y2
=
1 2 3
LLNUUBLL DUUGP 55,769.9| 55,769.9 55,769.9
wjn pynd
LUuBUSHhY DUUGN 55,769.9| 55,769.9 55,769.9
wjn pyntd
untRURAhULEN 55,769.9| 55,769.9 55,769.9
wjn pynd
Untpuhnhwbbp wenwywb YuqiwybpwnipintGGephb 55,769.9| 55,769.9 55,769.9
wjn pyntd
- UntpuhnhwOtp ng $hbwbuwyuwb wbnwywl 55,769.9| 55,769.9 55,769.9

{wybiywé N 1
Unjntuwy N 08-03-03

Unyntuwy 08-03-03
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 04
fudph 01 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

wjn pYnLd puwn pwantiph

MEnwywl wewygnipntl
Gphunwuwpnwywb
Spwantph hpwywbwgdwap

CUnwaklp wjn pUnLd puwn
nwuh = YuwnwnpnnGtph
<nnywéh waywbnidp gnLdwnp = =
(hwaqun 3 3 2
npwaltnny) b9 2 &
= SEEC
D ccb o
=] €323
3 333¢%
e | 3222
g | v~ 2
= S
5
1 2 3
oLNUUBLL DUUGP 342,845.6| 342,845.6 342,845.6
wyn pyntd
QUuBUShY DUuUGN 342,845.6| 342,845.6 342,845.6
wyn pyntd
unkpuhahuuen 342,845.6| 342,845.6 342,845.6
wyn pyntd
Untpuhnhwlbp wtwnwywb YuwgdwybpwnipyntbOtph 342,845.6| 342,845.6 342,845.6
wyn pyntd
- Untpuhnhw0bn ng $hOwbuwywt wEnwywh 342,845.6( 342,845.6 342,845.6
YuaquwytpwnipntGbepha

{wybiywé N 1
Unjniuwy N 08-04-01

Unyntuwly 08-04-01



€6¢

«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4
optlph 7-nn. hnndwény pjnuobinwhl swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 04
fudph 02 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn

Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybiywé N 1
Unjntuwy N 08-04-02

Unyniuwly 08-04-02

wjn pYntd puwn dpwgntinh

Ujntpwlwb wowygnipnth <&
Uqquihb dnnnyh
MNGinwywl wowygnipntl pGunpnignLbbBpned 3 L wybih MEnwywb wewygnepntl
waqwhb wnnynu dwyb hwy wpwé hwuwpwywywb
thnppwiwubnipintbb6phb Yntuwygnipintbotph L YuaquwytpwnipntGbepha
Ynruwygnipntbbbph
QOnwaklp nuw2hlplGNh
nwuh w
Jn pYntd puwnn wyn pYntd puwn wjn pYntd puwn
<nnywoh wiywanudp ?RS::L}? = Jwuwwpnnbbph z Jwuwwnpnnbtph = Jwuwnwpnnbbph
waatpn & S g &
nn nny) g 3. g = g g s
5 =g 5 EcE 5 £%
cl E: =] 23 c =] o=y
=} 33 S 5 3 & =} 33
15 5 S < 15
b= =5 =) 3% 3 =) 25
2 23 2 S55 2 33
g 35 a 52 g =
<73 M g v 3
v
1 2 3 4 5 6 7
pLAUUGLL DUuUGN 179,591.7 10,000.0 10,000.0 69,591.7 69,591.7 100,000.0 100,000.0
wyn pyntd
LULBUSHhY DUUGN 179,591.7 10,000.0 10,000.0 69,591.7 69,591.7 100,000.0 100,000.0
wyn pyntd
usL ouwugr 179,591.7 10,000.0 10,000.0 69,591.7 69,591.7 100,000.0 100,000.0
wyn pyntd
Lyhpwunynigntbbbp ng uwrwdwnswywb (hwuwnwywywh) 179,591.7 10,000.0 10,000.0 69,591.7 69,591.7 100,000.0 100,000.0
JuaquwytpwnipntGbephb
wyn pyntd
- Lyhpwuwnynipintbbep wy whnyp shGunwwlbnnn 179,591.7 10,000.0 10,000.0 69,591.7 69,591.7 100,000.0 100,000.0
YuaquwytpwnipntGbepha
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«{wjwunwh {wapwwtunnipjub 2008 pywywih whnwlwh piniebh dwuhb» <4

optlph 7-nn. hnndwény pjnuobinwhb swiuubph gnpéwriwywl nwuwywngiwb 08 pwdth 06

fudph 01 nwuh dnpwantph gény hwutnwwnywd hwinywgniibbph yepdwlnidb puwn
Swfuubph nbunbuwghunwywl nwuwywnpgiwb hnnywébtph

{wybiywé N 1
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wyn pYntd puwn dpwigntinh
Qnpdwnhn hzfuwntpjua,
wEunwywb Yurwywndwb
hwipwwbunwywb L nwpwépwihl
Ywrwywndwb dwnpdhGbeph
wwhwwbntd
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pLAUUGLL DUuUGN 451,256.5| 451,256.5| 302,084.8| 149,171.7
wyn pyntd
LULBUSHhY DUUGN 421,248.7| 421,248.7| 273,728.7| 147,520.0
wyn pyntd
uchuusuueh yurusrni@3ntu 338,085.8| 338,085.8| 221,213.5| 116,872.3
wyn pyntd
Mwdny JAwnpynn wziuwwnmwywnpébn b hwdGjudgwnbbn 289,606.3( 289,606.3| 189,675.2 99,931.1
wjn pynd
- UpuwuwnnnlObph wuwwnwywndbn b hwybwyfwpbbn 267,558.5( 267,558.5| 174,138.4 93,420.1
- Pwnwpwghwywl, nwunwywb b yenwwl wy 22,047.8| 22,047.8| 15,536.8 6,511.0
Swrwjnnubph wwpglwwnpnid
Quwuwnwgh unghwjwywl wwwhnynipjwb yswnbbp 48,479.5( 48,479.5| 31,538.3 16,941.2
(gnpéwunnth Ynndhg)
ounusnt@3ntuuNrh G4 UNNPULLLENh QENLRGNNFU 83,102.9| 83,1029 52,467.2 30,635.7
wjn pyntd
Cwpnibwywywb dwfuubn 27,880.2| 27,880.2] 14,334.8 13,545.4
wyn pyntd
- toGpgbuinhy Swrwynigntbbbn 13,624.7( 13,624.7 5,644.6 7,980.1
- UnintOw| Swrwjnipintblen 1,084.7 1,084.7 848.7 236.0
- Ywuwh Swrwjnieintbbbn 12,2144 12,2144 6,885.1 5,329.3
- @nuph L uwppwynpniibbph yuwpdwywinipntb 956.4 956.4 956.4 0.0
Anpéninnuibbph L 2powgquinipintbbbph dwiuubp 11,669.3( 11,669.3 5,809.3 5,860.0
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Nuwydwbwagnuiht wy Swewnupyntb0bph dGrpptpnid 32,912.01 32,912.01 24,636.0 8,276.0
wjn pynd
- Yuwnswywb swrwjnipintbbbn 1,300.0 1,300.0 0.0 1,300.0
- <wiwywpgswihb SwewnipnLbG6p 11,514.0( 11,514.0 4,658.0 6,856.0
- StntYwwnywywl SwrwjnienLabbn 528.0 528.0 408.0 120.0
- LUnhwntp pOniph wy SwrwjnipINLOGEN 19,570.0( 19,570.0( 19,570.0 0.0
LOpwghy Gnpngned L wwhwwOnid (Swewjnipintaabn L 972.4 972.4 752.0 220.4
Qynupkin)
wyn pyntd
- Ubptbwatph L uwppwynnpniibbph ppwghy Gnpngned L 972.4 972.4 752.0 220.4
wwhww(nid
Ujniptin 9,669.0 9,669.0 6,935.1 2,733.9
wyn pyntd
- Qpwubluywihb Gneebp L hwagniuwn 4,261.4 4,261.4 2,669.1 1,592.3
- Spwluwnpuwhb Onipbn 4,967.6 4,967.6 4,000.0 967.6
- UGagwnwihb L hwbOpwihb ubGnh OneRtN 440.0 440.0 266.0 174.0
usL ouwugP 60.0 60.0 48.0 12.0
wyn pyntd
<wnytn, wwpuwnhp Jawnbtp L wninydtn, npnbp 60.0 60.0 48.0 12.0
Ywrwywndwb nnwppbp dwywpnwybsph Yynnohg yhpwreynid
G0 ohdjubg Gywwndwdp
N2 rvUvuuvUL U4ShyucNrh aondy ouuutnN 30,007.8| 30,007.8 28,356.1 1,651.7
wyn pyntd
<hUuuuudu uh2angutnN 30,007.8| 30,007.8| 28,356.1 1,651.7
wyn pyntd
uGecuuutNh G4 uureudnMrNidueNh Q6NRRGNNFY, 30,007.8| 30,007.8 28,356.1 1,651.7
nu{nuLNiy B4 <hUuunrNanty
wyn pyntd
- Ywpswwb uwppwynpniiltn 30,007.8| 30,007.8| 28,356.1 1,651.7

Unyntuwly 08-06-01



